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~ Note : E " Question No. 1.is compulsory, answer any FIVE questions from the remaining.

(i) 0 T W T 5 AT O e g |
Solve all parts of a question consecutively together.
- (iii) % T % 79 78 & 3w £
' Start each question on fresh page.

(iv) ﬂ#wﬁ#mﬁ##@ﬁimmaﬂmél

Only English version lS valzd in case of dlﬁ’erence in both the languages

'1., @ mﬁmmmﬂt?ml

What do you understand by algorithm ? ‘Explain.
(i) R H LIFO 3R R i wga &, w4 7
‘Why STACK is called LIFQ data structure 7 *
(i) T | -
- . Explain queue. '
@) maﬁmmammam 3
~ Define binary tree and explain with suitable example.
(v) 3naftes o e widn & o v wwwa € 7

What do you understand by internal and external sortmg ? S - (2x5).

2. ﬁuﬂ%iﬁqa st dreftee & wafeTe ;
- Convert following expressions into postﬁx
G A=*B+CD
@G A+B/C-D A , .
(iii) (A+B)*C/D ' , . " - (@x3)
' (10f2) | . PTO.
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Write a ptogram in C-language for stack operations.
_ﬁwqﬁmammﬁ%mmm T RE T
TR AT | | - -

‘Write algorithm to insert and delete operations in a circular queue. Explain them
with suitable example and diagram. (6,4+2)

Yt foree foree # Pt Are 1 e % g C - 3 em s faReg | -

Write a program in C-language to add a node in a linear linked list.

i et R v @ v 1 wer 1 T R 3 wwT |

Write and explain an algorithm to remove a node from any doubly linked list. ,
i ‘ | S o (6x2)

@mamﬁmmmmﬁmmmmﬁ ;

Construct a binary tree for which following traversals are given : .

Pre order : ABDEGHCF
In order : DBGEHACF _ :

et 2 2 2 e 3 R A1 e e R | |

Write non-recursive algorithm to traverse binary tree. ‘ | | (6x2)

Dy T e Y - - ) Rrm & e

Explain depth-first-search graph traversal method in detail. <
e T TR T % R TR w1 g fafe |

' Write Warshal’s algorithm to find out shortest path. , (6x2)
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Write Kruskal’s algorithm to find out minimum cost spanning tree.

<P FerEr ) ErEar & € w hr il wwe | -

Explain the working of Heap sort with suitable example. (6x2)

i e v oo e

Write short notes on any two of following : -

Rkl

Binary search
fiEar |
Priority Queue )

~ Hashing - » : - (6x2)




